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#include <stdio.h>
#include <stdlib.h>
#include <time.h>
#include <math.h>

#define SIMPLE_SPRNG /*Simple interface.*/
#include "sprng.h" /*SPRNG header file.x*/
#define SEED 985456376

#define _L 10000 /*Max of rand number.*/
#define _N 100 /*The nunber of blocks.*/
#define _M 40 /*The nunber of blocks.x/
#define _S 4000 /*The number of steps.*/
#define _T 20

#define _U 3000 /*0QUTPUT3, 4%/

#define _H 500 /*0UTPUT3*/

#define _F 0.1

#define _A 180/1000

#define _B 0.91

#define _C 180/1000

#define _D 0.91

#define _E 3711 /*0UTPUT2(cluster)*/

main()

{

FILE *QUTPUT1;
FILE *QUTPUTZ2;
FILE *QUTPUTS3;
FILE *QUTPUT4;
FILE *QUTPUTS5;

double b[_NJ[_M],1[_NJ[_M],k[_N]J[_M],m[_NJ[_M],r[_N]J[_M];
double y[_NI[_M],f[_NI[_M],c[_NI[_M],e[_NI[_MI,p[_NI[_M];
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double o[_N][_M];

double a,u,s,h,ransuul,ransuu2,ransuu3,ransuué4,ransuub;
double energyl[_S],energy2[_S][_T],katamari[_S][_T];
int n,ban,hantei,kaisuu,kaisuul,kaisuu2,kaisuu3,step;
int i,j,ti,tj,hindo,drawn,slip[_S] ,hassei[_N][_M];

int bangoul[_N][_M];

QUTPUT1=fopen("jisl.dat","w");
OUTPUT2=fopen("jis2.dat","w");
QUTPUT3=fopen("jis3.dat","w");
OUTPUT4=fopen("jis4.dat","w");
QUTPUTS5=fopen("jis5.dat","w");

init_sprng(DEFAULT_RNG_TYPE,SEED,SPRNG_DEFAULT);
/*Initializationx*/

print_sprng();

ban=0;

kaisuu=0;
kaisuul=0;
kaisuu2=0;
kaisuu3=0;
hantei=0;
hindo=0;
h=2.0*pow(10,6) ;

for(i=0; i<=_S-1; i++){
for(j=0; j<=_T-1; j++){
energy2[i] [j1=0;
katamari[i] [j]=0;
}

for(i=0; i<=_N-1; i++){
for(j=0; j<=_M-1; j++){
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k[i] [j]=0;

1[i] [j1=0;

m[i] [j1=0;

r[i]1[j1=0;

f[i]1[j]=0; /*Power concerning a block.*/
e[i]1[j1=0; /*Emission energy.*/

b[i] [j]1=0; /*Distance from a starting point.*/
y[i]l [j1=0; /#Move distance of a block.x*/
o[i][j1=0; /*The generating place of a earthquake.*/
c[i] [j1=0;

hassei[i] [j]=0;

bangoul[i] [j1=0;

/*Determination of parameter.*/

for(i=0; i<=_N-1; i++){
for(j=0; j<=_M-1; j++){
ransuul=(int) (sprng()*(float) _L);
/*System size.x*/
ransuu2=(int) (sprng()*(float) _L);
/*System size.x*/
ransuu3=(int) (sprng()*(float) _L);
/*System size.x*/
ransuuéd=(int) (sprng()*(float) _L);
/*System size.x*/
k[i] [j1=5.0*pow(10,22)*(ransuul/((float) _L)*_A+_B);
/*Spring constant.x*/
1[i] [j1=5.0%pow(10,22) * (ransuu2/((float)_L)*_A+_B);
/*Spring constant.*/
m[i] [j1=5.0%pow(10,22)*(ransuu3/((float) _L)*_A+_B);
/*Spring constant.*/
r[i] [j1=1.0*pow(10,25)* (ransuud/((float) _L)*_C+_D);
/*Friction power.x*/
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/*Arrangement of blocks.x*/

for(i=0; i<=_N-1; i++){
for(j=0; j<=_M-1; j++){
b[i] [j1=j*h;
}

/*A motion of mantle.*/

for(step=0; step<=_S-1; step++){
kaisuu=0;
energyl[step]=0;
slip[stepl=0;

for(j=0; j<=_M-1; j++){
for(i=0; i<=_N-1; i++){
b[i] [j1=b[i] [jI1+_F;
y[i1 [j1=b[i] [j]1-j*h;
}

/*Power in which each block receives.x*/
do{
kaisuu=kaisuu+i;

hantei=0;

for(j=0; j<=_M-1; j++){
for(i=0; i<=_N-1; i++){
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if (j==0){
if (i==0){
fLi] [j1=(k[1] [_M-1]*(y[i] [j1-y[i] [LM-1])-k([i]
[1*(y[i1 [G+11-y (i1 [JI)+1 (4] (31 *(y [i1 [j1-y [i+11 [j1)-1[_N-11[
JIx(y[LN-11 [31-y[i1 [ +m[i] [j1*y [11 [31);
}
else if (i==_N-1){
fli] [j1=(k[1i] [_LM-1]*(y[i] [j]-y[i] [_M-1])-k[i]
[31*(y[i] [j+11-y[i1 [JI)+1[4] [j1*(y[i1 [j1-y[01 [j1)-1[i-1][j]*
(y[i-11[31-y (1] (D) +m[i] [jI*y (i1 [51);
}
elseq{
fLi] [j1=(k[1i] [_M-1]*(y[i] [j1-y[i] [LM-1])-k([i]
(1*(y[i1 [G+11-y (i1 [JD)+1[4] (31 *(y [i1 [j1-y [i+11 [j1)-1[i-11 [
Ix(y[i-1]1 [j1-y[11 [j])+m[i] [j1*y[i]1 [j1);
}
}

else if (j==_M-1){
if (i==0){
fLi1[j1=Ckli] [j-11*(y (4] [j1-y (i1 [j-1D)-k[il [
Ix(y[i] [0]-y [i] [j1)+1[i] [j1*(y[i] [j]1-y [i+1]1 [31)-1[_N-11[jI=(
y[LN-11 [j1-y[i] [j1)+m[i] [j]*y[i] [j1);
}
else if(i==_N-1){
fL11 [j1=Ck[i] [j-11*(y[i] [j]-y (il [j-11)-k[i] [j
Ix(y[i]1 [0]-y [i]1 [j1)+1[i] [j1*(y[i] [j1-y [0l [j1)-1[i-11[jI*(y[di
-110j1-y[11 [ +m[i] [j1*y [i] [1);
}
elseq{
fLi1[j1=k[i] [j-11*(y (4] [j1-y (i1 [j-1D)-k[il [
Ix(y[i]1 [0]-y [i] [j1)+1[i] [j1*(y[i] [j]1-y[i+1]1[j1)-1[i-1]1[j1*(y
(i-11 (G -y A1 (3D +m[i] [31*y [i1 [51);
}
}
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else if(i==0 && j!=0 && j!=_M-1){
fL1] [j1=Ck[i] [j-1T*(y[i] [j]-y (il [j-11)-k[i] [j]*
(y[i] [3+1) -y [1] (3D +1[1] [j1*(y [l (3] -y [i+1] [31) -1 [_N-1] [j1*(
y[_N-11[j1-y[i1 [j1)+m[i] [j1*y[i1[31);
}

else if(i==_N-1 && j'=0 && j'=_M-1){
fLi] [j1=(k[1i] [j-11*(y[i] [jI-y (il [j-11)-k[i] [jI=*(y
[i] [j+1]-y (i1 [jI)+2[i] [j1*(y[i] [jI-y[0] [j1)-1[i-1] [jI*(y[i-1
1031-y (i1 [j1)+m[1i] [3]1*y[i]1 [1);
}
elseq{
fLi] [j1=(k[1i] [j-11*(y[i] [j1-y (il [j-11)-k[i] [jI=*(y
(i) [j+1]-y (i1 [JIO+2[i] [j]1*(y [i] [j]-y [i+1] [j1)-1[i-1] [jI1*(y[i
-110G1-y[11 [ +m[i] [j1*y [i] [1);
}

clil [j1=£[i]1[j];

/*The block which carries out a chain.x*/

for(j=0; j<=_M-1; j++){
for(i=0; i<=_N-1; i++){

ti=j;
ti=1i;

if(FLeil [tj]>r (il [£51)4

if (tj==0){
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if (ti==0){
s=f[ti] [tj1/(k[ti] [tj1+k[_N-1] [_N-11+1[ti][
3141 [_N-1] [tj1+m[ti] [tj1);
elti] [tjl=s*f[ti] [tj1/2;
b[til [tjl=b[ti] [tj]-s;
y[til [tj1=b[ti] [tjI-tj*h;
hassei[ti] [tj]l=kaisuu;
if (kaisuu==1){
oltil[tjl=oltil [tjl+1;
printf ("STEP=Y,d HASSEIBASYO=(%d,%d)\n",st
ep,ti,tj);
b
elseq{
pltil [tjl=p[ti] [tjl+1;
printf ("STEP=),d RENSABASYO=(%d,%d)\n",ste
p,ti,tj);
}
cltil [tjl=(k[ti] [_M-11*(y[ti] [tj]-y[ti] [_M-
1D -k[til [tj1*(y[til [tj1-y[ti]l [tj+11)+1[ti]l [tjI*(y[til [tj]l-y
[ti+1] [£j1)-1[_N-1] [tj]1*(y[_N-1] [tj]-y[ti] [tj1)+m[ti] [tj]*y[
til [t31);
}
elseq
s=f[ti] [tj]/(k[ti] [tj]+k[ti] [_M-1]+1[ti] [t]
1+1[ti-1] [tj]+m[ti] [tj1);
eltil [tjl=s*f[ti] [tj1/2;
blti] [tjl=b[ti] [tj]l-s;
y[til [tj1=b[ti] [tj]-tj*h;
hassei[ti] [tj]l=kaisuu;
if (kaisuu==1){
o[til [tjl=o[ti] [tjl+1;
printf ("STEP=Y,d HASSEIBASYO=(%d,%d)\n",st
ep,ti,tj);
}
elseq{
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pltil [tjl=plti] [tjl+1;
printf ("STEP=),d RENSABASYO0=(%d,%d)\n",ste
p,ti,tj);
b
if (ti==_N-1){
cltil [tjl=(k[ti] [_M-1]*(y[til [tj1-y[til [_
M-11)-k[ti] [tj1*(y[ti] [tj+1] -y [til [tj1)+1[ti] [tjI*(y[ti] [tj]
-y[01 [tj1)-1[ti-1] [tjI*(y[ti-1] [tj]1-y[til [tj1)+m[ti] [tjI*y [t
i1 [t31);
b
elseq{
cltil [tjl=(k[ti] [_LM-1]*(y[ti] [tj]-y[til [_
M-11)-k[ti] [tjl*(y[ti] [tj+1] -y [til [tj1)+1[ti] [tjI*(y[ti] [tj]
-y [ti+1] [£31)-1[ti-1] [tjI1*(y[ti-1] [tj1-y[ti] [tj1)+m[ti] [tj]*
yltil [tj1);
b
}
}

else if(tj==_M-1){
if (ti==0){
s=f[ti] [tj]/(k[ti] [tj]+k[ti] [_M-1]+1[ti] [t]
1+1[ti-11 [tj1+m il [£31);
eltil [tjl=s*f[ti] [tj1/2;
blti] [tjl=b[ti] [tj]l-s;
y[til [tj1=b[ti] [tj]-tj*h;
hassei[ti] [tj]l=kaisuu;
if (kaisuu==1){
o[til [tjl=o[ti] [tjI+1;
printf ("STEP=Yd HASSEIBASYO0=(%d,%d)\n",st
ep,ti,tj);
+
elseq{
pltil [tjl=p[ti] [tjl+1;
printf ("STEP=Yd RENSABASY0=(%d,%d)\n",ste
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p,ti,tj);
+
cltil [tj1=(k[ti] [tj-11*(y[ti] [tj]-y[ti] [tj-
11)-k[ti] [tj1*(y[ti] [tj+1] -y [ti] [£31)+1[ti] [tj1*(y[ti] [tj]-y
[ti+1] [tj1)-1[_N-11 [£j1*(y[_N-1] [tj1-y [til [tj1)+mti] [ty ([
ti] [tj1);
}
else{
s=f [ti] [tj1/(k[ti] [tj]+k[ti] [tj-1]+1[ti] [t]
1+1[ti-1] [tj]+m[ti] [£j1);
elti] [tjl=s*f[ti] [tj]1/2;
b[ti] [tjl=b[ti] [tj]-s;
y[ti] [tjl=b[ti] [tj]l-tj*h;
hassei[ti] [tj]l=kaisuu;
if (kaisuu==1){
o[ti] [tjl=o[ti] [tjl+1;
printf ("STEP=%d HASSEIBASY0=(%d,%d)\n",st
ep,ti,tj);
}
else{
pltil [tjl=plti]l [tj]+1;
printf ("STEP=%d RENSABASY0=(%d,%d)\n",ste
p,ti,tj);
+
if (ti==_N-1){
cltil [tj1=(k[ti] [tj-11*(y[ti] [tj]-y [ti] [t
J-11)-k[til [tj1*(y[ti] [0]-y [til [tj1)+1[ti] [tjI*(y[til [tjl-yI
01 [tj1)-1[ti-1] [tjI*(y[ti-11 [tj1-y[ti] [tj1)+m[ti] [tj]*y[til [
tjl);
+
else{
cltil [tj1=(k[ti] [tj-11*(y[ti] [tj]-y [ti] [t
J-1D)-k[til [tj1*(y[til [0] -y [til [£j1)+1[ti] [tjI*(y[til [tj]1-yI
ti+1] [t31)-1[ti-1] [tj]*(y[ti-1] [tj]-y[ti] [tj]D)+m[ti] [tjI*y [t
11[tj1);
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}
b

else if (ti==0 && tj'!=0 && tj!=_M-1){
s=f[ti] [tj1/(k[ti] [tj1+k[ti] [tj-1]1+1[ti] [tj]+
10.N-1] [tj]+m[ti] [£j]1);
elti] [tjl=s*f[ti] [tj]/2;
b[ti]l [tjl=b[ti] [tj]-s;
y[til [tj1=b[ti] [tjI-tj*h;
hassei[ti] [tj]=kaisuu;
if (kaisuu==1){
oltil[tjl=olti] [tjl+1;
printf ("STEP=%d HASSEIBASY0=(%d,%d)\n",step
,ti,t3);
}
elseq
pltil [tjl=pltil [tj]1+1;
printf ("STEP=Y,d RENSABASYO=(%d,%d)\n",step,
ti,t]);
}
cltil [tjl=C[ti] [tj-11*(y[ti] [tj1-y[ti] [tj-1]
)-k[ti]l [tjl*(y[til [tj+1]-y[ti] [£jI)+1[til [tj1*(y[til [tjl-y [t
i+1] (3D -1 [LN-1] [tjI*(y [LN-1] [tj] -y [ti] [tj])+m[ti] [tjl*y [ti
10tj1);
}

elsed{

s=f[ti] [tj1/(k[ti] [tj1+k[ti] [tj-1]+1[ti] [tj]+
10ti-1] [tj]+m[ti] [tj]1);

elti] [tjl=s*f[ti] [tj1/2;

blti] [tjl=b[ti] [tj]-s;

y[til [tjI=b[ti] [tjI-tj*h;

hassei[ti] [tj]l=kaisuu;

if (kaisuu==1){
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olti]l [tjl=o[ti] [tj]+1;
printf ("STEP=Y%d HASSEIBASYO=(%d,%d)\n",step
,ti,t3);
}
else{
pltil [tjl=pltil [tj]1+1;
printf ("STEP=%d RENSABASY0=(%d,%d)\n",step,
ti,tj);
}
if (ti==_N-1 && tj'=0 && tj!=_M-1){
cltil [tjl=(k[ti] [tj-11*(y[ti] [tjl-y[ti] [t]
-1 -k[ti] [tj1*(y[ti] [tj+1]-y [ti] [tj1)+1[ti] [tj]*(y[ti] [t]]
-y[01 [tj1)-1[ti-1] [tj1*(y[ti-1] [tjI-y[ti] [tj1)+m[ti] [tj]
*xy[til [tj]);
}
else{
cltil [tjl=Ck[ti] [tj-11*(y[ti]l [tjl-y[ti] [t]
-11)-k[ti] [tj1*(y[ti] [tj+1]-y [ti] [tj1)+1[ti] [tj]1*(y[ti] [t]]
-y [ti+1]1 [tj1)-1[ti-1] [tjl*(y[ti-1]1 [tj]1-y[ti]l [tj])+m[ti] [t]]
*xy[til [t]]);
}
}

hantei=hantei+1;

if (kaisuu==1){
ban=ban+1;
bangou[ti] [tj]=ban;
}

elseq{
if (j==0)1
if (1==0){
if (bangou[ti+1] [tj]!=0){
bangou[ti] [tj]=bangoulti+1] [tj];
}
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else if (bangoul[_N-1][tj]!=0){
bangou[ti] [tj]=bangoul[_N-1] [tj];
}
else if (bangoul[ti] [tj+1]!=0){
bangou[ti] [tj]=bangoul[ti] [tj+1];
}
else{
bangou[ti] [tj]=bangoul[ti] [_M-1];
}
}
else if (i==_N-1){
if (bangou[0] [tj]!=0){
bangou[ti] [tj]=bangoul[0] [tj];
}
else if (bangoulti-1][tj]!=0){
bangou[ti] [tj]=bangoulti-1] [tj];
}
else if (bangoul[ti] [tj+1]!=0){
bangou[ti] [tj]=bangoulti] [tj+1];
}
else{
bangou[ti] [tj]=bangoul[ti] [_M-1];
}
+
else{
if (bangou[ti+1] [tj]!=0){
bangou[ti] [tj]=bangoulti+1] [tj];
}
else if (bangoulti-1][tj]!=0){
bangou[ti] [tj]=bangoulti-1] [tj];
}
else if(bangoulti] [tj+1]!=0){
bangou[ti] [tj]=bangoulti] [tj+1];
}

elseq{
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bangou[ti] [tj]l=bangoulti] [_M-1];
}
+

else if (j==_M-1){
if (i==0){
if (bangou[ti+1] [tj]!=0){
bangou[ti] [tj]=bangoulti+1] [tj];
}
else if (bangoul[_N-1][tj]!=0){
bangou[ti] [tj]=bangou[_N-1][tj];
}
else if(bangoulti] [0]!=0){
bangou[ti] [tj]=bangoul[ti] [0];
}
else{
bangou[ti] [tj]=bangoulti] [tj-1];
}
}
else if (i==_N-1){
if (bangou[0] [tj]!'=0){
bangou[ti] [tj]=bangoul[0] [tj];
}
else if (bangoulti-1][tj]!=0){
bangou[ti] [tj]=bangoulti-1] [tj];
}
else if(bangou[ti] [0]!=0){
bangou[ti] [tj]=bangoulti] [0];
}
else{
bangou[ti] [tj]=bangoulti] [tj-1];
}
+
else{
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if (bangou[ti+1] [tj]!=0){
bangou[ti] [tj]=bangoulti+1] [tj];

}

else if (bangou[ti-1][tj]!=0){
bangou[ti] [tj]=bangoulti-1] [tj];

}

else if(bangoulti] [0]!=0){
bangou[ti] [tj]=bangoulti] [0];

}

else{
bangou[ti] [tj]=bangoulti] [tj-1];

}

+

else if(i==0 && j'=0 && j!=_M-1){
if (bangoul[ti+1] [tj]!=0){
bangou[ti] [tj]=bangoulti+1] [tj];
+
else if (bangou[_N-1][tj]!=0){
bangou[ti] [tj]=bangou[_N-1] [tj];
}
else if (bangoulti] [tj+1]!=0){
bangou[ti] [tj]=bangoul[ti] [tj+1];
+
else{
bangou[ti] [tj]=bangoulti] [tj-1];
}
}

else if(i==_N-1 && j!=0 && j!=_M-1){
if (bangou[0] [tj]!=0){
bangou[ti] [tj]=bangoul0] [tj];
+
else if (bangoulti-1][tj]!=0){
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bangou[ti] [tj]=bangoulti-1][tj];
}
else if (bangoulti] [tj+1]!=0){

bangou[ti] [tj]=bangoul[ti] [tj+1];
+
else{

bangou[ti] [tj]=bangoulti] [tj-1];
+

}

else{
if (bangou[ti+1] [tj]!=0){
bangou[ti] [tj]=bangoul[ti+1] [tj];
}
else if (bangoulti-1][tj]!=0){
bangou[ti] [tj]=bangoulti-1][tj];
+
else if(bangou[ti] [tj+1]!=0){
bangou[ti] [tj]=bangoul[ti] [tj+1];
}
else{
bangou[ti] [tjl=bangoulti] [tj-1];
+
}
}
ransuub=(int) (sprng()*(float) _L);
/*System size.x*/
r[ti] [tj]=1.0%pow(10,25)* (ransuub/((float) _L)*
_C+_D); /*Friction power.*/
}
fltil [tjl=c[ti]l [tj];

}
}while(hantei!=0);
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for(j=0; j<=_M-1; j++){
for(i=0; i<=_N-1; i++){
hindo=hindo+o[i] [j];
drawn=drawn+p[i] [j];
slip[stepl=slip[step]l+o[il [j1+p[i] [j];
energyl[step]=energyl[stepl+e[i] [j];
}

if (hindo!=0){
printf ("STEP=Yd,HINDO=Yd,DRAWN=Y,d,ENERGY=Yf\n\n",step
,hindo,drawn,energyl[step]);

3

fprintf (QUTPUT1,"%d %d\n",step,drawn) ;
fprintf (OUTPUT5, "%d %f\n",step,energyl[stepl);

for(j=0; j<=_M-1; j++){
for(i=0; i<=_N-1; i++){
if (step==_E){
if (hassei[i] [j]1!=0 && bangoul[i] [j]'!=0){
fprintf (OUTPUT2,"%d %d %d\n",i,j,hasseilil [j1);
}

for(n=1; n<=kaisuu; n++){
for(j=0; j<=_M-1; j++){
for(i=0; i<=_N-1; i++){
if (bangou[i] [j1==n){
energy2[step] [n]=energy2[step] [n]+e[i] [j];
katamari[step] [n]=katamari[step] [n]+1;
}
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for(j=0; j<=_M-1; j++){

for(i=0; i<=_N-1; i++){
o[i] [j1=0;
plil [j1=0;

el[i] [j1=0;

hassei[i] [j1=0;
bangouli] [j1=0;

}

ban=0;
drawn=0;
hindo=0;

for(a=1; a<=_H; a++){
for(step=_U; step<=_S-1; step++){
for(n=1; n<=_T-1; n++){
if (katamari [step] [n]>=a){
kaisuu2=kaisuu2+i1;

}
if (kaisuu2!=0){

fprintf (OUTPUT3,"%f %d\n",a,kaisuu2);
}

kaisuu2=0;

for(u=1; u<=10000; u++){
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a=ux*pow (10,26) ;

for(step=_U; step<=_S-1; step++){
for(n=1; n<=_T-1; n++){
if (energy2[step] [n]>a){
kaisuul=kaisuul+i;

}
if (kaisuul!=0){

fprintf (OUTPUT4,"%f %d\n",a,kaisuul);
}

kaisuul=0;

fclose (QUTPUT1) ;
fclose(OUTPUT2) ;
fclose (OUTPUT3) ;
fclose(OUTPUT4) ;
fclose (OUTPUTS) ;
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HEN
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